Arbeidshefte
Likningsett

Arbeidshefte
Logaritmer - Briggske

Formel

Briggske logarimer - grunntall 10

1g10 = 1
1089 = ¢
lg10* =a
lga® =b-lga

lg(a-b) =lga+1gb
a
I (5> —lga—lgh

Matte er ggy! 1
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Formel

\.

lg10* =a

Oppgave 1

Skriv sa enkelt som mulig

1) 1g100 =

2) 1g 10000 =

3) 1g0,01 =

4) 1g0,0001 =

5) lg 5 =

6) 1gW100:

7) 1g/10 =

8) 1g /1000 =

9) 1g V10 =

10) 1g10

wn

Matte er ggy!
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Oppgave 2

Skriv sa enkelt som mulig

1) 1g(1000 - v/100) =

2) 1Olg 10 _

3) 101g 0.5 _

4) 10%'85 =

5) 103182 =

6) 10(82+g3) —

1g 64

8) 103

Matte er ggy! 3
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Formel
lg(a-b) =lga+1gb
lg(%) —lga—lgb
lga® =b-1gb
Oppgave 3

Skriv sa enkelt som mulig

1) lg(zy) +1lgz =

2) lga? +1gwy — gy =

3) g x4+ lg Va2 =

4) lga?y —1gy =

5) lg Va3 =

6) lg(a?)* =

7) lg2x3 =

8) lgZy +1g¥ =

4 Matte er ggy!
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Oppgave 4

Skriv sa enkelt som mulig

1) lgz? +lgz =

2) lgab =

3) lg(ab) +1g(%) =

SIS

4) lg(3) +1g(ad) =

5) lga2+lgb3+lg§ =

6) lg(xy) +lg(x?y) — lg(ay?) =

7) lg(4zy) — g ;—S + lgg =

8) 1g(8b) — lg(4b) — g2 +1gb =

Matte er ggy! 5
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Oppgave 5

Skriv sa enkelt som mulig

1) lg(a®0®) +lg(;%) —1g(2) =

2) 1g(a?b) +lg(ab?) +lg() =

w"_‘

3) 1g(;

)+ 3lga =

4) lg(a2b) —lg(L) =

5) 1g(3a) +1g § — 3lg ¥/a

6) 1g(8b) — lg(4b) —1g2 +lga =

7) lg(a®b?) +1g(%) —lgb =

8) lg vz +lg /x +1g ¥z =

9) 1g§é+1g%+lg%:

T

6 Matte er ggy!
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Oppgave 6

Skriv sa enkelt som mulig

1) 1g20 =

2) 1g16 =

3) lg6+1g4 =

4) lgd +1g2 =

5) 1g27 +1g9 =

6) lg81 —1g27 =

7) 15(9 - V3) =

8) lg2+1(2v2) =

Matte er ggy! 7
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Logaritme likninger

Formel

lgx=a
x = 10%

Oppgave 7
Lgs likningene

1) lgz=0

2) lgz—2=0

3) lgz+2=0

4) 3lgz =9

5) 2lgx+8=2—-lgx

6) lgx =—1

7) 3lgr—lgx—1=1

8) 4lgz = —12

8 Matte er ggy!
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Oppgave 8
Lgs likningene

1) lgz==0

2) lgat —lga3+2=0

3) 2lga® —5lgz =15

4) (Igx)? —2lgz —15=0

5) 2(lgx)? —lgz =0

6) lga? —lgx =4

7) 3lgx—6=0

Matte er ggy! 9
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Oppgave 9
Lgs likningene

1) lg(x +2) =4

2) 1g221 =1g8

3) (Igz)? —4lgz+3=0

4) 1g22 —3 =0

5) lg(2? —0,9) = —1

6) lg20 +3=1

7) 1g(2z —3)=0

8) lg(x —3) =3+1g2

10

Matte er ggy!
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Oppgave 10
Lgs likningene
1) 4* =16
2) 332 =9
3) 2ol =4
4) 3272 =4
5) 3% 1 =1
6) 2(3% —4) =38
7) 10* =55
8) 1072* = 100
Matte er ggy! 11
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Oppgave 11
1) lg(x +2)% = Iga?

2) (lgx)? +lgzx—2=0

3) lg(z —3)=-2

4) 2372 _13=3

5) 9.27 =144

6) 5-37 =25

7) 3-5% =18
12

Matte er ggy!
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